This question paper contains 16+8+4 printed pages]

Your Roll No.................
5785
B.Com. (Hons.)/11 D
Paper [X—COST ACCOUNTING
(Admissions of 2004 and onwards)
Time : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)

Note — (i) The maximum marks printed on the question paper
are applicable for the candidates registered with
the School of Open Learning. These marks will,
however, be scaled down proportionately in
respect of the students regular colleges, at the
time of posting of awards for compilation of

. result.

(i)  Answers may be written either in English or in Hindi;
but the same medium should be used throughout
the paper.
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Attempt A/l questions. The questions in sections

A, B and C need to be attempted together.
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Section A
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“Limitations of financial accounting have made the

management realize the importance of cost accounting.”
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Explain the following terms in cost accounts : -9

- (1)  Product cost

(if) Relevant range

(iif) Sunk cost.
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(319Fe)
In a factory two typeé of articles are; manufactured
No. 1 and No. 2. From the following particulars, prepare
a statement of cost sﬁowing total cost of production of

each variety and ascertain the total profit. There are no

P.T.O.
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opening and closing stock and no selling and

distribution overheads :

No. 1 No. 2
Materials (%) 30,000 50,000
Labour (%) 60,000 70,000
Selling price (%/article) 1,200 1,500
Articles. sold (units)‘ | 180 206

Works overheads are.charged as 40% of works cost and
office overheads are charged as 20% of cost of
production. 10
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What is the difference between integral and non-integral

system of accounting ? 5
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(a)_ A company has 5udgeted 3 ;5,00,000 for variable
overheads and ¥ 8,60,000 for fixed overheads for the |

) year. The ovérheads are recovered on the basis of the
machine hours. The company has budgeted for 1,00,000
machine hours for the year. During the year, the compa’my

used 95,000 machine hours for the actual output. Actual

costs incurred for the fixed apd variable manufacturing

ov,erheads were ¥ 8,00,000 and ¥ 4,70,000 respectively.

Required :

(/)  Compute the over or under recovered variable

manufacturing overhead amount

(i) Compute the over or under recovered fixed

manufacturing overhead amount

(7)) Compute the over or under recovered total

manufacturing overhead amount : 12
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(b)  Differentiate between allocation and apportionment of

overheads. 3
YR & e $iR ERIEE) A faug =ifsm)
Or
(3reret)

The following annual charges are incurred in respect of a machine
in a shop where manual labour is almost nil and where work is
done by means of 5 machines exactly of similar types and

specifications :
Particulars ' Amount
®)

Rent and rates for the shop (propdrtional to floor

space occupied) 4,800
Dépreciation on each machinery 500
Repairs and maintenance for 5 machines ];000

Power consumed (as per meter) @ 5 paisa per unit

for the shop 3,000
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Electric charges for light in the shop 540
Sundry supplies for the shop 450
Hire-purchase instalments payable for the machine 1,200

2 attendants for 5 machines and they are each paid

@ ? 60 per month.

For 5 machines supervisors is there whose emoluments
are'? 250 p.m.

The machine uses 10 units of power per hour

Calculate machine hour rate. 15
@w&mﬁaﬁ-ﬁﬁawmwsﬁ%eﬁtaﬁ
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Section B
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(@) About 50 items of materials are required every day in a
company. A fixed cost of T 50 per order is incurred for
placing an order. The inventory carrying cost per item
amounts to ¥ .02 per day. The lead period is 32 days.

Compute : 10
() Economic order quantity

(ii) Re-order level.
T F A yfefer wet #) e so W
SERIHA Bl &1 FARY [ B fw viy waRw
50 ® R wrE e ¥ wR we e
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()  Explain the treatment of the following items in cost

accounts :
()  Scrap
(il) Defective. 5

i we H fefafen @ frewn ® we

(3rgan)

A company undertook a contract for construction of a large
building complex. The construction work commenced on st

April, 2011 and the data given ahead is available for the year

“ended 31st March, 2012 -
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Contract price

Work certified

Progress payment rgceived
Materials issued at site
Planning and estimation cost
Direct wages paid

Material returned from the site
Plant hire charges

Wages and related costs

Site office costs

Head office expenses apportioned

5785
Amount
’000)
35,000
20,000
15,000
7,500
1,000

4,000

1,750

678

375

PTO.
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Direct expenses incurred 902
Work not certified 49

The contractor owns a plant which originally cost ¥ 20 lacs has
been continuously in use in this contract throughout the year.
. The residual value of the plant after S years of life is expected

to be T 5 Jacs. Straight line method of depreciation is in yse.

As on 31st March, 2012, the direct wages due and payable
amounted to ¥ 2,70,000 and the materials at sjte were estimated

at ¥ 2,00,000.
Required :

()  Prepare the contract account ror the Year ended 31st

March, 2012,

() Show the calculation of the profit-to be taken to the

Profit & Loss A/c of the year.

(i) Show the relevant balance sheet entries. I5
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The following information is available regarding process A for

the month of February, 2013 :

Production Record

Units in process as on 1-2-2013 (all materials used,

25% complete for labour and overhead) 4,000
New units introduced 16,000
Units completed 14,000
Units in process as on 28-2-2013 (all materials

used, 33%% complete for labour and overhead) | 6,000

P.T.O.
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Cost Record :

WIP as on 1-2-2013 T
Materials ‘ 6,000
Labour ' 1,000
Overheads 1,000

8000

Cost during the month :

Materials 25,600
Labour 15,000
Overheads | 15,0;)0

55600

Presuming that average method of inventory is used,

prepare :

@) Statement of equivalent production
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(i) ~Statement showing cost of each element
(iii)  Statement of apportionment of cost

(iv) Process ‘A’ account 15
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Mr. Jaidka owns a fleet of taxis and the following information

is available from the records maintained by him :

No. of taxis 10

Cost of each taxi T 20,000

Salary 6f manager T 600 pm.
~ Salary of accountant ? 500 p.m.

éalary of cleaner % 200 p.m.

Salary of mechanic ‘ ' T 400 p.;n.

Garage rent T §00 p.m.

P.T.O.
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Insurance premium 5% p.a.
Annual tax T 600 per taxi
Driver’s salary ¥ 200 p.m. per taxi
Annual repair T 1,000 per taxi

Total life of a taxi is about 2,00,000 km. A taxi runs in all
3,000 km in a month of which 30% it runs empty. Petrol con-
sumption is one litre for 10 km @ ¥ 1.80 per litre. Oil and other
sundries are ¥ 5 per 100 km. Calculate the cost of running a taxi

perkm.‘ 15
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Section C
(wm )
The following information is available from the financial books

of company having a normal production capacity of 60,000

units for the year ended 31-3-2013 :
()  Sales ¥ 10,00,000 (50,000 units)

(i) There was no opening and closing stock of finished

goods.

(iify  Direct materials and direct wages costs were ¥ 5,00,000

and T 2,50,000 respectively.

() Actual factory expenses were I 1,50,000 of which 60%

are fixed.

(v)  Actual administrative expenses were ¥ 45,000 which’ are

completely fixed.
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- (vi) Actual selling and distribution expenses were ¥ 30,000 of

which 40% are fixed.
(vii) Interest and dividend received ¥ 15,000.
Required :

(@)  Find out profit as per financial books for the year ended

31-3-2013.

(b)  Prepare the cost sheet and ascertain the profit as per
cost a/c for the year ended 31-3-2013 assuring that the
indirect expenses are absorbed on the basis of normal

production capacity.

()  Prepare a statement reconciling profit shown by financial
and cost books. 15
s FOA 1 foxiE Rl ¥ 31-3-2013 £l

g &Y # fere emfafed geATd STeed ¥
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What do you understand by reconciliation of cost and financial

accounts ? Why is reconciliation of cost and financial accounts

P.T.O.
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of an organization necessary ? Explain the possible reasons

for the difference between profits shown by both the

accounts. 15
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